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. [ PRACTICE ]

1o Propertles and Laws of Logal-"-l_t\;ll;';; AEs
log,1=0 log, x" =nlog, x
{ log, b=1 log, xy =log, x+log, y
i X
i log, 6" =n log, —=log, x-log, y
i y
log x
blﬂg”" = 10 X =
L "7 logh |
1. Solve forx.
1
a) log, 7=— b
) log,7=2 )
¢) log,(log,x)=0 d)
e) log, 16=4 f)
h
g) logzmx:_z )
2. Solve each equation.
& a) log,(x*-1)=1 b)
) 10g2(3x)+10g2x=%10g2 81 d)
e) 3logx—log3=2log3 f)
3. Solve each equation.
a) 2log,x—log;(x-2)=2
¢ log,(x-1)+log,(x—2)—log;(x+6)=0
_ e) log,5x—log,(x—-1)=2log,3
O
c
2 g) log,(x—4)=1-log;(x+3)
(14
= 4. Solve.

a) %loga(x +2) +%—10ga (x-1)= %loga 27

b) log,(x-1)+log,(x+2)=1log,(8 -2x)

SOPEVOORK

2logx =1

1082(10g4 x) =1
log, x =3log, 2

log, x=-3

4

%log3 64 —log, x =log, 4
logx—log3 =1

log; 2x+%log5 9=2

b) logy(x—5)+logy(x+3)=1
d) log(x*+4)=1+2logx
f) log9(2x_1)+log9x=—;-

h) log,(2x+2)-log,(x-1) =log,(x +1)
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5. Solve each equation.

a) logx® =3logl2—-2log8 b) 10'%e* =15

c) logi(x+1)+log,x=1

d) -;—log3 36 —log, (x —2) = 3log, 2 —log;(x +1)

6. Without a calculator, solve each equation.
a) log,x” +logyx* =4

c) xlog1 x_9

X

7. Solve.
a. log;Vyx*-1=4% b. log;x=-8

8. Solve for all values of x.
log,.,(17x—-4)=2

Answers

b)

log, 7+log, x =2

d) log,10=5logx+4

c. log, ¥8=1




